Truss analysis:
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Assume forces in truss are as indicated. Then the forces at each node are as follows:

At A: SIX —Fag-FagcosO =0
Sly - Fag sind=0

At B: Fag €0sO - Fge c0sO - Fgc =0
FAB sind + FBE sind=0

At C: Fgc + Fce c0sO - Fcp cos6 =0
Fce sinO + Fepsind =0

At D: Foe + Fcp cos6 =0
S2 —Fcpsind=0
At E: Fae — Fpe + Fge €c0SO - Fcg cos6 =0

-Fge SinO - Fcesin@-L =0

Then these equations can be put into matrix form as:

1 0 —cos -1 O 0 0 0 0 0)Six 0
01 —-sin O 0 0 0 0 0 0] Sly 0
0 0 sin 0O sin O 0 0 0 Of Fp 0
0 0 cs 0O —-cos -1 O 0 0 O Fu 0
00 O 0 0 1 cos —-cos 0 Of Fgp 0
00 0 O 0 0 sin sin 0 O|F.| |0
00 O 0 0 0 0 -sin 0 1| F, 0
00 O 0 0 0 0 cos 1 0 Fyp 0
00 O 1 cos O cos 0 -1 0| F 0
00 O 0 —-sin 0 -sin O 0 O\ S2 L




